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»ior x in range(10):
print("Hello!") # =2 &2 H ZF &3 YH(E027))
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x In range(100000):
print("Hello!")

® Hello!7F &2F H SHELC
olF| BLYX| RECID ¥

fe)
ook =™
o
il

[LI|O
Ml
n
Ot
2
>~
L
ot
-
Inl

@ =k A (Python 3.x.x Shell &)
@ Ctrl + C & S LC}



2. 8H2 222 Yopus T2

» X 1N range(3):
print(100) # SO M7\ Iz Y 71 Fof &)
print(200) # SO MA7[(EIZE | 7 F o O'E"
print(300) # L{O] A7[(BIZH QO] Hi= Q)
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» X 1N range(3):
print(100) # SO M7\ Iz Y 71 Fof &)
print(200) # SO MA7[(EIZE | 7 F o O'E"
print(300) # LJO] M7((HIZE Q10| HEZE YH)
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print(100)
print(200)
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3.

»

HHE 7|
turtle as t

# or2d 27|
X 1N range(3):
t.forward(100)
t.left(120)

# At 2|7
X 1N range(4):
t.forward(100)
t.left(90)

# 2 12|7]
t.circle(50)
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EEE 29 ArE of
forward(Z{2])/ fd(H2l) | HE0|7} ¢S 2 0|5 EtL|C}, t.forward(100)  # H50|7} 1002tE H2 = O|sgL|C}
backward( 2]) {E0|7| § 2 o]z gHL|LC}, t.back(50) # {=0[7t 500HF £ 2 O| gL C,
/ back(712])
left(Zf ) / I(Z E) HEOZ7t IBLE 2| L|CE | tleft(45) # H50|7l 45 = R Z O 2 3| ML T}
right(Z =) / (2 E) ggmﬂ QEZOZ 3| FTtL t.right(45) #S0|7t 45 LEZ O Z | MetL|C},
circle(2HX| £) ST QKoM RIS ABIL|Ct t.circle(50) # HtX[£0] 502! ¥2 Q& LICH
down() / pendown( ) H(dA 2ol ne)Z WELICL t.down() # O[X| =Z{O|H 12 0| 2 2{FLLCt.
up( ) / penup() H(d3 2l ne))g SELCE | tup() # 507t A0 = MO| D 2{X|X| & LICH

shape(“Z2 ")

t.shape("turtle")

t.shape("arrow") # 24
¥ HE0| 2O 2 "circle", "square", "triangle"= AtES £

# TR 50| RO AIWYLICE
g 2 |71=1—0|§ X| &gt C},
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speed(H )
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t.speed(1)
t.speed(10)
t.speed(0)
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1. rangett?

»range : LtO|M O M 2| ranges Bt "HE|'E X|H5t= HHO

» L3t A0 A ranges

St= O Al

>>> list(range(5))
[OI 11 2! 3’ 4]

range(5) : 0,1, 2, 3, 42 #f= CHA 7§ 7H4.

for x in range(5) : "B x2| 4t AU 2
0,1 2 3 A2 HFRTHA HE 229 Al

>>> list(range(0, 5))
[0, 1, 2, 3, 4]

range(a, b) :
range(a, b)2| /= aOllAM A|ZtSiAlb HIZ
UO| UMK 14 =2|HA Bt=.

range(O 5 :
FE AlESHA 5 H
0,12 3,45 4.




1. rangett?

>>> list(range(1, 11)) range(1, 11) :
[1,2,3,4,5,6,7,89, 10] 10X A|ZSHA 11 HIZ (107X E Et=
1,2,3,4,5 6,7,809 102 5.

>>> list(range(1, 4)) range(1, 4) : 10|A 4 HIZ ¥ 3)7HX| =
[1, 2, 3] 1,2, 32 4.




» print("[0-4]")

» for x in range(5): # range(5)£ 0, 1, 2, 3, 47FX| CtA & Bi=
print(x) # W x S %E:'

» print("[1-10]")

»forx inrange(1, 11): #1,2, .., 107HX] € & Bt=E(112 X 2)).
print(x) # tﬂ_)lk_ X ﬁ)t% %E—:!

Wrange YHOIE & Ul F 7HX|= J 7|AstA 2!

@ range(5) : 0FEf A[ZSHA 47FX| CH H BH=0CHE= X2 SO,
@ range(1, 11) : 12 E A2 107tX] @ | BHESHCH112 & 2|BHCh.
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x in range(1, 11):

S = S+X

print("x:

ot
I
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T sum: 1

2 sum: 3

3 sum: 6

4 sum: 10
5 sum: 15
6 sum: 21
/ sum: 28
8 sum: 36
9 sum: 45

10 sum: 55

L sum:

")
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X in range(1, 10+1):

S = S+X

print("x:
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T sum: 1

2 sum: 3

3 sum: 6

4 sum: 10
5 sum: 15
6 sum: 21
/ sum: 28
8 sum: 36
9 sum: 45

10 sum: 55

L sum:

")
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Q@ B O|E2 =XIE A&t = QLT
H= 0|29 2 3nameO|Lt 150mE B2 ALY &= Ql&LICH

@ F& H/2EXE F=ULE F, A2 as LHE #H4YLCH

@ LIO|MO| RRICZ AFBSH= HO{= & E = ooz A8 = gLt
Ol|: False, None, True, and, as, assert, break, class, continue, def, del, elif else,
except, finally, for, from, global, if, import, in, is, lambda, nonlocal, not, or,

pass, raise, return, try, while, with, yield = B2 A2 5= Q& LICH
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